Ne ApTUKYn HanmeHoBaHue Kon
1 [VP60-0001 [Pyyka BepxHAA 3aWLUTHAA 1
2 LWalba 1
3 LWaiba 1
4 bont M8x25 1
5 Pyuka 1
6 Maiika M20 1
7 [VP60-0007 [Py4yka 3agHAA BepxHAA 1
8 [VP60-0007 |laika-bapaluek 2
9 larika M10 2
10 bont M10x35 2
11 (VP60-0011 PyuKa 3aaHAA HUXKHAA 1
12 [VP60-0012 [Bubporacutens @25x43 2
13 LWaiba 2
14 bont M12x80 2
15 |[VP60-0005 |Koneco (nocagKka 15mm) 2
VP60-1115 [Koneco (nocagka 17,5mm) 2
16 LWalba 1
17 Bbont M8x30 1
18 LWalba 1
19 [90-0286 LWKkne @20mm, pemeHb 17x730Li 1
90-0285 LKkne @19mm, pemeHb 13x762Li 1
20 LWaliba 1
21 Bont M8x35 1
22 LWalba 1
23 |VP60-0023 |KoXKyx pemHsa 1
24 |VP60-0024 |PemeHb 17x730Li 1
VP60-1024 [PemeHb 13x762Li 1
25 MaHenb 3aaHAA 1
26 LWalba 1
27 Bont M8x20 1
28 Maiika M10 4

Mogenb
Bubponnura VP60-CK2
Technical department Assembly drawing

Engineer, chief designer

DYNAMIC DRIVE EQUIPMENT, USA

John Emerson Jr.
Page 1




Ne ApTUKYN HanmeHoBaHue Kon
29 LWalba 4
30 |90-0284 Bubporacutens @55x38 4
31 LWaiba 4
32 LWalba 4
33 Maiika M10 4
34 Pama gsuratens 1
35 |[VP60-0035 |OcHoBaHue 1
36 |VP60-0036 |Bubpatop 1
37 bont M8x40 5
38 MnactnHa npuXKMMHan 5
39 LWaiba 4
40 LWalba 4
41 Bont M16%40 4
42 Lsuratens G200 1
43 LWalba 4
44 laiika M8 4
45 |VP60-0045 LLnoHKa 1
46 Laiba 2
47 LWaiba 2
48 bont M8x25 2
49 bont M8x25 2
50 |VP60-0050 ([BubBporacutens P35%x15 2
51 Malika M8 2
52 |VP60-0052 |KpoHLWTeNnH Konec 1
53 |90-0735 Tpoc rasa 1
Mogenb
Bubponnura VP60-CK2
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 2




Ne ApTUKYN HanmeHoBaHue Kon
1 Bont M10x25 1
2 LWalba 1
3 LWaiba 1
4 |VP60-1004 |LLUKuB BEegombli 1
5 [VP60-1005 Ban akcueHTpUKa 1
6 [VP60-1005 LLInoHKa WwKnea 1
7 bont M8x20 4
8 1098035 CanbHuk 35x48x10 1
9 LWaliba 4
10 |VP60-1010 KpblwKa Kopnyca 1
11 |VP60-1011 KonbLo ynaoTHUTENBHOE 1
12 |027011 MoawnnHmk 6211 1
13 [VP60-1013 [Kopnyc 1
14 LWalba 1
15 bont 1
16 (027011 MNogwunnHuk 6211 1
17 [VP60-1011 [Konbuo ynnoTHUTENbHOE 1
18 [VP60-1018 KpbiwKa Kopnyca 1
19 LWaiba 4
20 bont M8x20 4
Mogenb
Bubponnura VP60-CK2
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 3




Ne ApTUKYN HanmeHoBaHue Kon

1 [90-0121 lfonoBsKa unanHapa B cbope 1

2 |01-168-002 |WnwunbKa kapblopaTopa 2

3 |01-168-003 |[BTtynka @10x14 2

4 * MpoKnaaKa ronoBku 1

5 [01-168-005 (WnunabKa raywmntens 2

6 |[LR5YC Cseuya 3axkuranua LR5YC 1

7 [01-168-007 [bonT ronoBKu uMAnMHApPaA 4

8 * MpoKnagKa KnanaHHOM KPbILWKK 1

9 |01-168-009 |KpbiwKa KnanaHoB 1
10 |01-168-010 |BoAT KNanaHHOM KPbILLKK 4
11 |90-1082 TpybKa oTBOAa rasos 1

* 190-0230 Habop npoknagok

Mogenb
Bubponnura VP60-CK2
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 4




Ne ApTUKYN HanmeHoBaHue Kon
1 [90-0687 UnnanHagp 1
2 (90-0630 CanbHuK 2
3 |02-168-003 |Waiiba 1
4 102-168-004 |boAnT cAMBHOIO OTBEPCTUA 1
5 [90-0626 Pene patunka macna 1
7 [02-168-007 [AdaTyMK ypoBHA macna 1
9 |02-168-009 [LUecTepHs perynatopa ob6opoTos 1
10 |90-0461 MogwnnHuk 6205 1
11 |02-168-011 |lWanba 1
12 |02-168-012 [3axkum 1
13 |02-168-013 |Pbiyar Bana perynstopa ob6opoTos 1
Mogenb
Bubponnura VP60-CK2
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 5




Ne ApTUKYN HanmeHoBaHue Kon

1 |03-168-001 |MpobKa (wyn) 2

2 |03-168-002 |bonT M8x32 6

3 |03-168-003 [KpbiwkKa KapTepa 1

4 190-0630 CanbHWK KoneHsana 1

5 [90-0461 MoawnnHmMK Konensana 6205 1

6 |03-168-006 [BTynka 2

7 * Mpoknaaka KapTepa 1

* 190-0230 Habop npoknaaok

Mogenb
Bubponnura VP60-CK2
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 6




Ne ApTUKYn HanmeHoBaHue Kon
1 |90-0852 Konbuo nopwHesoe @370x1,5 1
2 [04-168-002 [KonbLo cTonopHoe 2
3 [90-0156 MopleHb @70x49mm 1
4 104-168-004 |Maneu nopwHA 2
6 [90-0180 WatyH 1
7 |04-168-007 (LLUnoHKa maxoBuKa 1
8 KoneHBan 1
Mogenb
Bubponaurta
P VP60-CK2
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 7




Ne ApTUKYN HanmeHoBaHue Kon

5 * KpoHLWTeNH Kopombicen 1

6 * LTaHra Tonkarena 2

7 * Tapenka Tonkatens 2

8 * PoTtatop 1

9 * CTtonop NpyXunHbl BbIMYCKHOrO KnanaHa 1

9a * Cronop npyXuHbl BAYCKHOrO KnanaHa 1

10 * Mpy*KK1Ha KanaHa 2

11 [90-0246 Konnayok macnocbemHblit 1

12 [90-0673 KnanaHbl Habop 1

13 |05-168-013 ([PacnpepBan 1

14 |05-168-014 [Kopombicno Habop 2

* 190-0859 PeMKOMNANEKT roNoBKM LMAMHAPA

Mogenb
Bubponnura VP60-CK2
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 8




Ne ApTUKYN HanmeHoBaHue Kon
2 [90-0115 BblkAtoyaTenb 3aXKuraHuaA 1
4 190-0850 KoXyx maxoBuKa 1
7 |90-0494 CrapTep B cbope 1
16 [90-0252 PyuKa ctapTepa 1
17 1909-020 LLUHyp cTapTepa 4,5 mm 1
Mogenb
Bubponauta
P VP60-CK2
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 9




Ne ApTUKYn HanmeHoBaHue Kon

1 * Mpoknaaka TensonsonaTopa 1

2 |08-168-002 ([Tennousonatop 1

3 * MpoknaaKa kKapbopaTopa 1

4 * MpoKknaaKa Kopnyca Bo3aywHoro ¢uabTpa 1

5 [90-0128 KapbtopaTop 1
10 ok Mpy*KWHa pblyara 1

13 ok Pbiyar perynatopa 1
14 ok MpyunHa Tarn 1

15 [10-168-015 (Tara peryndatopa 1
16 [90-1084 MNaHenb ynpasneHuA 1

* 190-0230 Habop npoknaaok

** 190-0624 Habop npyxuH

Mogenb
Bubponnura VP60-CK2
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 10




Ne ApTUKYn HanmeHoBaHue Kon
90-0727 Kopnyc Bo3aywHoro ¢punbTpa 1
90-0645 PunbTp BO3AYLLHbIN 1

U=

1
Mogenb
Bubponnura
P VP60-CK2
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 11




Ne ApTUKYN HanmeHoBaHue Kon
2 |90-0265 MarHeTo 1
3 |[90-0117 Konnayok cBeyHow 1
5 |[15-168-005 [MaxoBuK 1
11 [15-168-011 ([Kpblab4aTKa maxoBUKa 1
12 [15-168-012 ([XpanoBuK cTapTepa 1
13 [15-168-013 ([laiKa maxoBMKa 1
14 |04-168-007 ([LUnoHKa maxoBMKa 1

Mogenb

Bubponnura

P VP60-CK2

Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 12




Ne ApTUKYn HanmeHoBaHue Kon

1 |15-188-001M [Mpobka 6eH3obaKa 1

2 |14-168-002 |®unbTp TONAUBHbIN 1

4 190-0614 baK TonAMBHbIN 1

5 [15-188-005 (WTyuep 1

6 |15-188-006 [3axkum 2

7 |90-0737 LWnaHr TonaunsHbIn (6, 7) 1

8 190-0619 rnywurtens 1

9 * MpoKknaaKa raywntens 1
10 [13-168-002 |raitka 1

* 190-0230 Habop npoknaaok

Mogenb
Bubponnura VP60-CK2
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 13




